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over a limited penod
(B) period during which unemployment
may rise and demand and output
may fall, leading to slump in trade
(C) period that

accumulation of unsold goods,

results  from

owing to fall in demand
(D) All of the above
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SECTION - (A) (i) GENERAL AWARENESS
1 Satellite launching station is located at | & Mahabaleshwar is located in
(A) Sriharikota (Andhra Pradesh) (A) Maharashtra
(B) Solapur (Maharashtra) (B) Rajasthan
(C) Salem (Tamil Nadu) (C) M‘adhya Pradesh.
- (D) Warangal (Andhra Pradesh) () Himachal Pradest
7  Rajya Sabha has no role in
2 The Black flag' signifies (A) the election of the Vice-President
(A) revolution/danger (B) the election of the Speaker
(B) peace (C) the impeachment of the President
T (C) protest (D) removal of the judges of the
(D) truce Supreme Court
3 Study of life in outer space is known as 8 Nu.rn't'sm'fnit:s is the study of
(A) endbiology (A) coins
) (B) numbers
(B) cmbtcfiogy () stamps
(C) enterbiology (D) space
(D) neobiology '
9 National Anthem was first sung on
4  School of Aviation Medicine (Air Force) (A) December 27, 1911 during the
is located at Indian National Congress Session
(A) Allahabad at Calcutta
(B) Hyderabad (B) January 24, 1950 by the Constituent
(C) Bangalore J A_'mm? g Iadia A
D) Jalahall (C) J.anuargl 26, 1?39 by the
Government of India
(D) None of the above
5 Recession s
(A) slowing down of economic activity | 10 Direct Demoeracy is a system of

Government in which :

(A) People choose the Civil Servants.

(B) People directly eleat their
Representatives.

(C) People take pari directly in the
policy making and administration
of the country

(D) Government officials consult people:
on various appointments
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(i) | SEHTE

Ao ARET R ®E Rad ¢ 7
(A) drf@m (wig =)

(B) @wgy (FETT)

(€) wrm (afeEg)

(D) @t (3 w29

el 7 @ @ (Black flag) &1
ggfar & 7

(A) wife | W

(B) grifa

(C) Ta0m

(D) gt

aET F oEEmy W SNgd @ AW
Pretfurftag & & frad s s & 7
(A) TR

(B) wEETEIA!

(C) w=IamE

(D) arEmEETs

e ot CAE R (T w) weE
fors & 7

(A) STEETE

(B) #eEE

(€) Fmge

(D) Sremeel

8 (Recession) @l iy <=1 g ¢

(A) it e & o onfds wafa &
g Al o ¥

B) @ W frad derl aed ¥ el
Him afe s firen

(©) @ ww forgd " & @AW § A
& HUE WG] &

(D) wutes @i fawa
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6 TEREWYET el Rum ¥ 7
(A) WETs
(B) TroaT
(C) Weg Weom
(D) femmaa wesn
7 Prefafes & & fewd Tew gw @t @
wftrer A8 B ¥ 7
(A) Sq-Tregaty % Frafes A
(B) oemE (et & Frafes ¥
(€) sy & weifiEm o
(D) SomH AHWE & A @
e o
§ iR (Numismatics) FREeT
e & 7
(A) T=®1 (coins)
(B) ®@& (numbers)
(C) ®¥ (stamps)
(D) arEeeT (space)
9 g WA @ UYE TH &9 g a1 ?
(A) zhegs AsFm ®OE @ Howdl B
g § feday 27, 1911 °
(B) Wi @ dapfig @ &1 el
24, 1950 H
(C) W | B0 FHEd 26,
1959 &
(D) vl fawedl § & &5 80
10

WE wimds I w0 UE 6 8

i

(A) @ fafew d9af & g 2

(B) @ o whatiRemi & den Frates
FHE T

(©) wm 2w & A Fofw s d
wgrEE § @9 W ed )

(D) arard et fafes Fryfe
% fawm & @ & sl @ E
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11  National Institute of Oceanography is
located at
(A) Panaji (Goa)
(B) Lucknow (Uttar Pradesh)
(C) Pune (Maharashtra)
(D) Nagpur (Maharashtra)
thermal power.

12 Nuclear power is

(A)
(B)
©)
(D)

cheaper than

costlier than

equal in amount

they cannot be related
13 Lal Bahadur Shastri is also known as
(A)
(B)
©)
(D)

Guruji

Man of Peace
Punjab Kesari
Mahatma

14 Magsaysay awards are named after Ramon
Magsaysay, who was known for
his land reform programme to defuse
communist insurgency.

(A)
(B)
(C)
(D)

President of the Philippines
President of the Spain
President of the Scotland

President of the Malaysia

Moradabad (Uttar Pradesh) is famous for
(A) brass ware

(B)
(€)
(D) penicillin factory

sandal oil

newsprint factory
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16

17

18

19

20

Mahakavi Kalidas
(A) was one of the greatest Sanskrit
poet and dramatist
the

Chandragupta Vikramaditya

(B) lived during region of

(C) famous works include Shakuntala,
Meghdoot
Kumara Sambhava

All of the above

Raghuvansha, and

(D)

Name the instrument used to measure
relative humidity

(A) Hydrometer

(B) Hygrometer

(C) Barometer

(D) Mercury Thermometer

Mina is the tribe of
(A) Tripura

(B) Sikkim

(C) Rajasthan

(D) Nagaland, Assam

National Institute of Occupation Health
is located at

(A)
(B)
(©)
(D)

Bangalore
Ahmedabad
Pune
Mumbai

Kanishka was
(A)
(B)

the king of Kushan dynasty

a great conqueror but later became
a follower of Buddha

(C) the only ruler of India whose

territory extended upto central Asia
(D) Al of the above
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12

13

14

Ay sfeEegz @i sieahmRl sl
g & 7

(A) goril ()

(B) @@l (day wewl)

(C) 79 (W)

(D) =AgT (WeRRg)

HFAET TS Sl gHe Os @l gay

Frefafaas 3 & Har & 7

(A) =qFiaT Sl s oS @
IS

(B) “EIGT TS 99 TS ¥ STl
o &

(C) @i u7eil @ @d q9F &

(D) @ B g TE B G

e FEIgy el @ wedE ST
o Y

(A) el

(B) it

(C) twma Had

(D) wETeT

Y wEE TE TR % AW A el
% 9 s gue wriwn § arard) @l
@ UNE g ®C & fod A AegE 4
4t

(A) Tefeda & wim 4

(B) ®WT & W@ o

(C) wheevs % yym 4

(D) fyen & wia 4

quEraE (3w way) frad R ofem &7

(A) tiawl % WEE (brass ware)

(B) =& & dd (sandal oil)

(C) =@ Brz @t %azl  (newsprint
factory)

(D) tEEE @1 HEf (penicillin

factory)
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16

17

18

19

HETEE  Hiferard

(A) Hwpa & werF By ST TEET 4

(B) wamw famwiiea & &5 ¥ wd 2

(C) el witgs vl # e, T,
AogE ot HA §9a ®H FAEY
BRIl ¥

(D) vl W Fyer weér ¥

e T B W UG ¥ SHH BEd ¢
(A) wEse

(B) EEumiet

(€) FUHRT

(D) TRFIY TR

R i s
(A) Bigu

(B) TaiFsn

(C) TwerF

(D) TS, 3EW

Agr shEEE s sl W @El
g & 7

(A) ¥rge

(B) oEwemEmR

(© 9

(D) wag

i

(A) FIF G910 F T Al

(B) wEm fastar an Wikt o § 9= @
FIAE T Yl

(C) wieet @1 U A gyl ar feeren
&8 vey ufdEn a6 Wen gen 91

(D) st adl faawe @i ¥
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(i) GENERAL INTELLIGENCE & REASONING ABILITY

21 Statement There has been an
unprecedented increase in use of
malpractices by the students during
various examination held in the country
this year.

" Courses of Action :

1 All the concerned authorities
conducting these examinations
should immediately take effective
measures to curb this menace,

=1L All those students who are detected
to have used unfair means should
be debarred from appearing in any
of these examinations for the next
three years

NL  Using wunfair means should
immediately be made cognizable
offence by passing necessary
legislations,

(A) Only T follows

(B) Only I and 11 follow

(C) Only I and 11 follow
(D) Only I and 11l follow

22 Translate from an imaginary language
into English. Then, look for the word
elements that appear both on the list and
in the answer choices.

Here are some words translated from an
artificial language

relflaga means carefree

otaga means careful

fertaga means careless

Which word could mean "aftercare" ?
(A) zentaga

(B) tagafer

(C) tagazen

(D) relffer
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23

24

26

What is the missing letter in this series?
a c e 71

(A) f (B) g

€ h (D) j

What is the missing letter in this series?

h g 7 e d
(A) a (B) b
©€) ¢ (D) f

What is the missing letter in this series?
a abb ? ¢

(A) a (B) b

€) ¢ (D) d

What is the missing letter in this series?
c ¢cd? e fg g h

(A) b (B) ¢

(€) d D) e

Instruction : In these questions, identify the
wrong number in the series.

27

28

29

30

21, 28, 33, 35, 37, 36
(A) 33 B) 35
(© 21 (D) 36

5. 13, 29, 61, 120, 253
(A) 61 (B) 29
(©) 120 (D) 253

0, 7, 28, 63, 124, 215
(A) 7 (B) 63
(C) 28 (D) 215

9, 19, 40, 83. 170, 340
(A) 340 (B) 170
(C) 83 (D) 40
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21

22

(i) gr= ghewan wd @i g

femeor = 2y @ fafey wdian o fradf @
R 39 W aagd ghe 8 @ #)
HFIA — FRE :

L o &9 amn @ anfae st

w78 witms wafa & wheth

H & WU AHIfes TSI
W TSHI HEy |

I ol i s AR e P

w1 B W olen ¥ ded & fag A

af o gfea B iR |
. W& &Ea &0 & ortaa Ofd @

arrde P emug "

afed |
u% AE 1 SIE wal §
ud A 1 SfT 11 seERer g &

(A)
(B)
(C) u®m W 11 it [T sgaen &
(D) uw Wi | & 1l SrFEer g ¥

qE 9=l W OHEH AW N AR
fopar &

relftaga o1dl carefree Prizia

otaga 9% careful &adH

fertaga 19 careless WIHLET®

Frerfefiaa & are fameal 4 § feaa s

"aftercare” 6 ®W yaw &Tw BT & )

(A)
(B)
(©)
(D)

zentaga
tagafer
tagazen

relffer
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23 ffafaa 9oft & @ W
(missing) & 7
a ¢ e 71
(A) F (B) g
(C) h (D) j
24 Prafwfas ool § @m-an
(missing) & 7
h g 7 e d
(A) a (B) b
(€) ¢ (D) f

25 frafafga 3ot & @@

(missing) & ?

ala b b 2 ¢
(A) a (B) b
(C) ¢ (D) d

26 fpafufas 9ot o @S-
(missing) & 7

¢c ¢d 7?7 e f g
(A) b (B) ¢
(C) d D) e

HEFL TE

HEL MES

HET TEE

AT T

g h

b=y

frdsr : frfafaga 990 § a7 qem g |

FHI TEAT (identify).

27 21, 28, 38, 35, 37, 36

(A) 33 (B) 35
(C) 21 (D) 36
28 5. 13. 29, 61, 120, 253
(A) ol (B) 29
(€C) 120 (D) 253
29 0, 7, 28, 63, 124, 215
(A) 7 (B) 63
(C) 28 (D) 215
30 9 19 40, 83, 170. 340
(A) 340 (B) 170
(C) 83 (D) 40
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Instruction : A good way to figure out the
relationship in a given question is to make
up a sentence that describes the relationship
between the first two words. Then, try to use
the same sentence to find out which of the
answer choices completes the same
relationship with the third word.

31 Yard is to inch as quart is to
(A) gallon
(B) ounce
(C) milk
(D) lhiquid

32 Careful is to cautious as boastful is to
(A) arrogant
(B) humble
(C) joyful
(D) suspicious

33 Which word does NOT belong with the
others 7
(A) biology
(B) chemistry
(C) theology
(D) zoology

34 Which word does NOT belong with the
others 7
(A) book
(B) index
(C) glossary
(D) chapter

35  Look carefully for the pattern, and then
choose which pair of numbers comes

next 7
2 8 14 20 26 32 38
(A)y 2 46
(B 44 50
(C) 42 48
(D) 40 42
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37

38

39

40

The following question consists of a
related pair of words, followed by four
pairs of words. Choose the pair that best
represents a similar relationship to the
one expressed in the original pair of
words.

PETAL : FLOWER

(A) salt : pepper

(B) tire : bicycle

(C) base : ball

(D) sandals : shoes

Look at this series : 58, 52, 46, 40, 34,

....What number should come next?

(A) 26

(B) 28

(C) 30

(D) 32

Look at this series . (1/9), (1/3), 1,
, 9. . What number should fill

the blank ?

(A) (2/3)

B) 3

(C) 6

(D) 27

Statement : "Computer education should

start at schools itself"

Assumptions :

1 Learning computers is easy.

I Computer education fetches jobs
casily.

(A) Only assumption I is implicit

(B)  Only assumption 11 is implicit

(C) Either 1 or Il is implicit

(D) Neither | nor 11 is implicit

Find the word that names a necessary
part of the underlined word

antique

(A) ranty

(B) artifact

(C) aged

(D) prehstoric
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fder : Fraidiga @i@a ¥ vga @ 9= & Gaq
& W & waw e = F Wy " w7 e

31

32

33

34

35

S T e 39 % g9y § 9 B gy
e (quart) 1 HEY Teaw @y ¥ 7
(A) T .

(B) aifg 5

(€) 38 -

(D) vam! )

G e o e o G 1
grEl @ Haw Frertaiaa fames 5 8 has
orer g7

(A) @yt

(B) o

(C) wiyo

(D) waEEE

Frer o 50 W @ y= gay faww &
ferwrar-sywan (belong) & ¥, S&H1 @A
BT |

(A) dfafasm

(B) A fasma

(C) wHgTE

(D) wrlisTET

Frewr ¥ B W s = gEl fee 8@
frerar -Sgoen w80 ¥ | SEE wEe @i |
(A) Fepema

(B) srgsafoTest

(C) 91 @iy

(D) =

Aol B (pattern) H HFYHS aiEd T
B m fawen W @ @ @ den & g
aid HPT (next) ® &M ?
2 8 14 20 26 32
2 46

44 50

42 48

40 42

38
(A)
(B)
(€)
(D)
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36

37

38

39

40

fp=iforfias womr o & orsEt & W % oud
qry & gl @ A A 4 % ) e e
S SIS W G Wi §iE @ wiel
& WU ¥ OIGH T @i |
EE I (R

(A) 9% @l g

(B) MR . wiElew

(C) g . 73

(D) @ew :

@ o g g Aot § s endf ¢
58, 52, 46, 40, 34, .

(A) 26

(B) 28

(C) 30

(D) 32

guit 1 (1/9), (13), I, .9, .. W

fer wm o &= A9 wen e ov

(A) (23)

(B) 3

(C) 6

(D) 27

Rarr : &g & aEm e ¥
H & fpar @ oafke

qgrevr ¢

| @=gey d@eT wa ¢

0 e & 9w § Al ater

4 Pt 3 )

u® Wi 9N | Hehd gd1 & |

u®H uE =Ren 1 e Ad &

areen | (10 & &ig ol dba 39 & )

a1 18§ R o ada e

S

A g Fae § & T@itha 9= @ TE

" ¥, SHS U dited |

antique (WG &1 JoaaT w%])

(A) ZEw =g .

(B) fowushy

(C) guet =%
(D) wrifeifts

(A)
(B)
()
(D)
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43

(iii) ARTTHMETICAL & NUMERICAL ABILITY

What is the profit percent if the cost price
of an article is Rs. 480 and selling price is
Rs. 500 ?

A) 3%
B) 4%
€ 4t%

(D) 5%

A man took a loan of Rs. 7500 for two years
at 10% per annum. What is the amount he

has to return ?
(A) Rs. 6000
(B) Rs. 7500
(C) Rs. 8500

(D) Rs. 9000

A man purchased some mangoes at 2 for
Rs. 10 and sold them for 3 for Rs. 18.

Find the profit percent in the transaction.
(A) 25%
(B) 22.5%
(C) 20%

(D) 26%
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44

45

46

47

A match started at 9.30 am. and ended
3.15 p.m., How long did the match last ?

(A)
(B) 5 hrs 45 minutes

12 hrs 45 minutes

(C) 6 hrs 15 minutes

(D) 6 hrs 45 minutes

A bus is going at a speed of 72 km/hour.
What is its speed in m/sec. ?

(A)
(B) 20 mfsec.

10 m/sec.

(C) 30 mfisec.
(D) 60 m/sec.

The capacity of a bottle is 300 cm3,
How many such bottles can be filled from
a tub containing 36 litres of liquid ?

(A)
(B)
(©)
(D)

120
220
110
60

If the perimeter of a square is equal to that
of a rectangle of dimensions 5 m and 7 m.
The area of the square is

(A) 25m?
(B)
(©)
(D)

35 m?
36 m?
49 m?
[ Contd...
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42

43
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(iii) oferia Td dend drd

ofy us T @1 B e 480 T. qul famd
e 500 %, ¥, o @ wfaerd feen ¥ ?

(A) 3%
(B) 4%

©€) 4¢%

(D) 5%

e =i A Ay &% R 10 % e &t 2
F 7500 %, IuTE fro | 3@ fra i del
g ?

(A) 60007%.
(B) 75007%.
(C) 85007%.

(D) 90007%.

ueh afin A FB M 10%. H 2% TE H
@l T 18%. F 3% wia & Ja R 1A A

I I AT w7

(A) 25%

(B) 22.5%
20 Y%

(€)

(D) 26 %

13

44 UH 9 (match) W 9.30 X HITH FIHT

45

46

47

TG 3.15 TX G g | e R we
b aell ¢

(A) 127245
B) 5= a5t
() 6® 15
(D) 6445 M.

we Ty 72 REdifEe @ i & w1 W@ g
sg Mg MAFs AR T ?

(A) 1073,

(B) 20#/2.

(C) 30i/4.

(D) 60 /4.

ue S @ oEad 300 WS ¥ 1 Uh =,
fRergesr enfiar 36 Wi ¥, 7E o forg et
il @ Syt B ?

(A) 120
(B) 220
(C) 110
(D) 60

s gar 70 ¥, & uRww & e ¥
ot &1 &Thd @

(A) 2542
(B) 3512
(C) 3612
(D) 492
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48  The difference between the smallest 5-digit

number and the largest 4-digit number is
(A) 0

(B) 1

© 2 i

(D) 3
49  Which of the following is the greatest :
10239, 10293, 10392, 10923
(A) 10239
(B) 10293
(C) 10392
(D) 10923

What is the sum of first five multiples

of 122
(A) 196
(B) 168
(€) 192

(D) 180
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51

52

A man purchased a table for Rs. 325 and
spent Rs. 25 on its repair. He sold it for
Rs. 420. What is his gain percent ?

(A) 20%
B) 2%
(C) 30% |

D) 70%

Calculate the following equation and
choose correct answer

3 _75+3
=0

12+ 23 9
X
5 28+4

1813

(A)

B) S
€ 3
(D) 15

Write the smallest 5 digit number using the
digits 8, 0, 3, 1 and 6.

(A) 13068
(B) 16803
(C) 10368

(D) 10638
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49

50

5-3ihl @l Y BT @A TAT -3kl B
T2 @ 921 g N o

(A) © =5
®) 1
Ky 2

(D) 3

frddamdidenaa a e
10239, 10293, 10392, 10923

(A) 10239

(B) 10293
(C) 10392

(D) 10923
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(A) 196

(B) 168
(€) 192

(D) 180

JDD-2/TPU/X-13 D |

15

51

52

us AfeR § Uh A9 325 %, W @ler a4
25 . I AUHG U =49 fpU) 9w 39
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(A) 13068
(B) 16803
(C) 10368
(D) 10638

| Contd...




e
¥

AT

54

55

56

B

What is the quotient when 0.45 is divided
by 9 ?

(A) 5

(B)_45
©) 55
(D) "0.05

Express (5% of 3.75 + 10% of 7.25) in
decimals

(A) 009152
(B) 0.9521
(C) 0.9125

(D) 09527

What is .01% of 25000 ?
(A) 25
(B) 25
)y 25

(D) 250

What is the least 3 digit prime number ?
(A) 101
B) 111
(C) 133

(D) 154
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58

59

60

If the digits of 6 and 9 in the number 36490
are interchanged, what is the difference

between new number and original number?
(A) 2970
(B) 3030
(C) 2070

(D) 2790

What is the decimal equivalent of - ?

17
1000
(A) 0.17
(B) 0.017
€y 11

(D) 0.0017

What is the sum of 23.3, 2.33, 0.233 and
0.0203 ?

(A) 25.8833
(B) 258833
(C) 258833
(D) 253388
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(C) 0.9125

(D) 0.9527

25000 @1 .01 Y% T & 7

(A) 2.5
(B) 25
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(D) 250

3 it @l BIS A BIE ST e Hi-
e
(A)
(B)
(C)
(D)

101
111
133

154
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i d@@T 36490 ¥ 3% 6 TYT 9 YT WH
Ta@ W, O qW g a1 & gen 9
ST ST i

(A) 2970

(B) 3030
(C) 2070

(D) 2790

17
1000

1 G9TAT TAGE 1 7
(A) 0.7
(B) 0.017
©) 1.7

(D) 0.0017

23.3. 2,33, 0.233 a41 0.0203 &1 T
FNME?

(A) 25.8833

(B) 258.833

(C) 2588.33

(D) 25.3388
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(v) TEST OF LANGUAGE : ENGLISH

Instruction : Choose the word from given
alternatives to fill in the blank to make the
sentence meaningful and complete.

81 The boy fell — bicycle
(A) of
(B) off”
(C) from
(D) under

82 1 put —__ the light and slept.
(A) up
(B) down
(C) in
(D) out

83 Leave atwo inch —_______ on each
page for the teacher's remarks.

(A) border
(B) margin
(C) blank
(D) gap

84 He passed the examination in the first
class because he .......

(A) was hard working for it
(B) worked hardly for it

(C) had worked hard for it
(D) was working hard for it

85 The English schemed to continue their
rule in India by playing off one
community _____ the other.

(A) before
(B) wupon
(C) against
(D) with
JDD-2/TPU/X-13 D | 20

Instruction : In the following questions choose
the word which has Opposite meaning to the
word in CAPITAL.

86 UNDAUNTED
(A) impalpable
(B) emblazoned
(C) discouraged
(D) none of the above

87 SATURNINE
(A) cheerful
(B) awkward
(C) formative

(D) none of the above

88 MISAPPREHEND
(A) defame
(B) anticipate
(C) understand

(D) none of the above

89 HOLLOW
(A) solid
(B) collect
(C) polish

(D) none of the above

90 PERMIT
(A) brief
(B) prohibit
(C) proclaim

(D) none of the above




Instruction : The following sentences are
dividend in parts (alternatives). One of the
parts is likely to have grammatical error in
it. The letter of that part in which there is
an error is the answer. If there is no error
answer is 'D".

91 (A) Even though the shirt is rather
expensive  —
(B) but I wish to
(C) purchase it with my own money
(D) No error
92 (A) His father promised to
(B) give him anything what he
(C) wants if he passes in the
examination
(D) No error
93 (A) After listening to
(B) his advice, 1
(C) decided to not to go abroad for
studies
(D) No error
94 (A) The book is making
(B) waves and the sale
(C) s quite brsk in all major cities
(D) No error
95 (A) The charges in this hospital
(B) are less than
(€) the hospital near my house
(D) No ermor
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Instruction : Read each passage carefully and
answer the questions that follow. For each
question four probable answers bearing
numbers A, B, C and D are given. Only one
out of these is correct. You have to choose the
correct answer.

PASSAGE .

Martin The Monkey lives in an oak tree
at Cragmore Park in Bananaville. He works for the
Banana telephone company, He is the best emplovee
they have because he can climb the telephone poles
twice as fast than everyone else.

On Saturdays, Martin pitches for the
Cragmore Craters Bascball tcam. The Caters arc
a semiprofessional team. Martin has become
extremely famous for what he calls his "Pnimate
Pitch." The "Primate Pitch” is thrown straight up.
The pitch then comes straight down and travels
directly over home plate. The pitches travels at
over one hundred miles per hour On Wednesday
nights, Martin takes painting lessons with Sarah
Able. She 1s a famous oil pamter who lives in the
same town as Martin. Martin is one of the only
artists in the arca that paints with his tail,

96  What semiprofessional baseball team does

Martin play for?
(A) Craters (B) Cardinals
(C) Drains (D) Drabs
97  Where can you find Martin on Wednesday
nights?

(A) Banana telephony company
(B) a baseball game

(C) painting

(D) tail fishing

98 In what town does Martin live in?
(A) Cragmore (B) Bananaville
(C) Prnmate (D) Able

99 In what town does Sarah Able live in?

(A) Cragmore (B) Banpanaville
(C) Primate (D) Able
100 Where does Martin work?
(A) the banana factory
(B) the paint factory
() the telephone company
(D) the oil company

| Contd...




i

SECTION - (B) POST SPECIFIC SUBJECT - RELATED QUESTIONS
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INSTRUCTIONS TO CANDIDATES

s % foo frta

N =

This booklet contains 40 pages.

Please check all the pages of the |

Booklet carefully. In case of any
defect, please ask the Invigilator for
replacement of the Booklet.

Each question or incomplete

statement is followed by four |

alternative suggested answers or
completions. In each case, you are
required to select the one that
correctly answers the question or
completes the statement and blacken
[ ] appropriate oval A, B, Cor D by
Black/Blue Ball-point pen against the
question  concerned in the
Answer-Sheet. (For V.H. candidates
corresponding oval will by
blackened by the scribe)

There is only one correct answer lo
each question. You should blacken
[ | the oval of the appropriate
column, viz, A, B, C or D. If you
blacken | | more than one oval
against any one question, the answer
will be treated as wrong. If you wish
to cancel any answer, yvou should
completely erase that black mark in
the oval in the Answer-Sheet, and
then blacken the oval of revised
response.

A machine will read the coded
information in the OMR Answer-
Sheel. In case the information is
incomplete/different from the
information given in the application
form, the candidature of such
candidate will be treated as cancelled,

You are NOT required to mark vour
answers in this Booklet. Al answers
must be indicated in the Answer-Sheet
only.,
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